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Turnover

1.
State the name given to the study of:

(a)
The cell._____________________________________________________________
(1mk)


(b)
Microorganism. _______________________________________________________
(1mk)

2.
Study the diagram below and answer the questions which follow.

[image: image1.png]




(i)
What is phylum X? _____________________________________________________
(1mk) 


(ii)
Name the classes labelled a, b and c.







(3mks)



a: ___________________________________________________________________________


b: ___________________________________________________________________________


c: ____________________________________________________________________________
3.
Study the dental formula below.



i  0 : C  0 : PM 3 : M 3


   3        0          2       3


(i)
Identify the mode of feeding carried out by the animal with this dental formula.

(2mks)



______________________________________________________________________________


(ii)
Give a reason for your answer in (i) above.






(2mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________

4.
Explain how the mammalian red blood cells are adapted to their function.  


     (2mks).

____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

Biology Paper 1




2






5.
Describe how seeds and fruits are adapted to animal dispersal. 




(4mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

6.
State four precautionary measures which should be taken in preventing outbreak of cholera.
(4mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

7.
A portion of a DNA strand has the following base sequence on one strand.





Write down the base sequence of the complementary.

(i)
DNA strand __________________________________________________________
(2mks)


(ii)
mRNA strand _________________________________________________________
(2mks)

8.
(a)
State two ideas proposed by Lamark in his theory of evolution.



(2mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________


(b)
Why is Lamark’s theory not acceptable?






(2mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________
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9.
(a)
What is meant by  the term non-disjunction?






(2mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________

(b) Give an example of a genetic disorders caused by:

(i)
Non-disjunction








(2mks)




________________________________________________________________________




________________________________________________________________________




________________________________________________________________________




________________________________________________________________________

(ii)
Gene mutation.








(2mks)




________________________________________________________________________




________________________________________________________________________




________________________________________________________________________




________________________________________________________________________

10.
State four structural differences between arteries and veins.





(4mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

11.
The equation below represents a chemical reaction that takes place in living organisms.


2C57 H110 O6 + 16302 

114CO2  + 110H2O + Energy


(i)
Calculate the respiratory quotient (RQ) for the reactant.




(3mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________
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(ii)
Suggest the substrate that was being used in the respiration.




(1mk)



______________________________________________________________________________

12.
What is the function of the following structures in the human reproductive organs.

(a)
Fallopian tubes. 









(2mks)

______________________________________________________________________________

(b)
Epididymis










(2mks)

______________________________________________________________________________

(c)
Scrotal sac.










(2mks)

______________________________________________________________________________

13.
State two advantages of internal fertilization in humans.





(2mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

14.
State the economic importance of the following excretory products of plants.


(i)
Papain.











(2mks)



______________________________________________________________________________


(ii)
Quinine.










(2mks)



______________________________________________________________________________

15.
What is meant by the following terms.







(6mks)

(i) Community  ___________________________________________________________________

______________________________________________________________________________

(ii) Population ____________________________________________________________________

______________________________________________________________________________

(iii) Carrying capacity_______________________________________________________________

______________________________________________________________________________
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16.
Name the type of gene mutation represented by the following telegraphic information:

- Intended message.


- Bring a SHIRT.


- Actual message.


- Bring a SKIRT.









____________________________________________________________________________
(2mks)

17.
Name the classes in phylum arthropoda which has


(i)
members with two body part and eight legs ____________________________________
(2mks)


(ii)
the largest number of individuals ____________________________________________
(2mks)

18.
State three structural differences between xylem vessel and sieve tube.



(3mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

19.
State the function of


(i)
Ribosomes.










(2mks)



______________________________________________________________________________


(ii)
Lysosome.










(2mks)



______________________________________________________________________________

20.
Distinguish between haemolysis and plasmolysis.






(2mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

21.
What is the role of bile salts in digestion in humans?






(2mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________
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22.
Name the three components of the nucleotide.






(3mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

23.
Name two mineral elements that are necessary for the synthesis of chlorophyll.


(2mks)
____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

24.
State two functions of sebum.









(2mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

25.
The diagram below illustrates the structure of bread mould.


(a) 
Name the part labelled J. 








(1mk)



______________________________________________________________________________

(b) 
State the functions of the structure labelled K. 





(2mks)



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________



______________________________________________________________________________
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26.
Name two divisions that show alternation of generation.





(2mks)


____________________________________________________________________________________


____________________________________________________________________________________

27.
Define the following terms.


(a)
Depolarisation










(1mk)


______________________________________________________________________________



______________________________________________________________________________


(b)
Effectors.










(1mk)



______________________________________________________________________________



______________________________________________________________________________


(c)
Receptor.










(1mk)



______________________________________________________________________________



______________________________________________________________________________

28. 
State three adaptation of the xylem. 







       (3mks)


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________


____________________________________________________________________________________

29. 
Name the process by which translocation occurs in plants. 




   (2mks)


____________________________________________________________________________________


____________________________________________________________________________________
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Classes: Mammalian	        a                  Pisces         b                    c
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